Bid #432-11097 - Uniforms, Public Works (Annual Contract)

Creation DateNov 1, 2012Start DateNov 2, 2012 4:48:55 PM EDT

End DateNov 27, 2012 2:00:00 PM ESTAwarded DateNot Yet Awarded

432-1109701-01 EMBLEMS, Embroidery charge							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
GLOBAL TRADING, INC. [Ad]	First Offer - \$1.05	2500 / each	\$2,625.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Brown & Bigelow, Inc	First Offer - \$2.50	2500 / each	\$6,250.00		Y		
Product Code:		Supplier Product Code: Custom Emblem					
Agency Notes:		Supplier Notes: Bid As spec'd					

432-1109701-02 SHIRTS, Long Sleeve, Poplin (Male)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
GLOBAL TRADING, INC. [Ad]	First Offer - \$8.51	1212 / each	\$10,314.12		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 4.25 Uniform Manufacturer: RED KAP Catalog Number: SP14 Stock, yes or no: YES Nonstock, yes or no: NO						
Brown & Bigelow, Inc	First Offer - \$11.56	1212 / each	\$14,010.72		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes: W Uniform Manufact Catalog Number: Stock, yes or no: Nonstock, yes or Bid As spec'd	/eight/Oz. : 4 1/4 t urer : EWC 3 yes					

432-1109701-03 SHIRTS, Short Sleeve Poplin (Male)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
GLOBAL TRADING, INC. [Ad]	First Offer - \$7.23	1116 / each	\$8,068.68		Y			
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Weight/Oz.: 4.25 Uniform Manufacturer: RED KAP Catalog Number: SP24 Stock, yes or no: YES Nonstock, yes or no: NO							
Brown & Bigelow, Inc	First Offer - \$9.44	1116 / each	\$10,535.04		Y			
Product Code: Agency Notes:		Supplier Product C Supplier Notes: W Uniform Manufact Catalog Number: S Stock, yes or no: y Nonstock, yes or r Bid As spec'd	eight/Oz.: 4 1/4 urer: EWC 3 ves					

432-1109701-04 SHIRTS, Long Sleeve, Poplin (Female)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
GLOBAL TRADING, INC. [Ad]	First Offer - \$9.83	36 / each	\$353.88		Y		
Product Code:		Supplier Product	Code:				
Agency Notes:		Supplier Notes: Weight/Oz.: 4.25					
Uniform Manufacturer: RED KAP							
		Catalog Number: SP13					

		Stock, yes or no: YES Nonstock, yes or no: NO		
Brown & Bigelow, Inc	First Offer - \$10.89	36 / each	\$392.04	Y
Product Code: Agency Notes:		Supplier Product (Supplier Notes: W Uniform Manufact Catalog Number: Stock, yes or no: y Nonstock, yes or r Bid As spec'd	/eight/Oz .: 4 1/4 r urer : RedKap 3 yes	

432-1109701-05 SHIRTS, Short Sleeve, Poplin (Female)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
GLOBAL TRADING, INC. [Ad]	First Offer - \$8.38	36 / each	\$301.68		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes: W Uniform Manufact Catalog Number: S Stock, yes or no: N Nonstock, yes or r	r eight/Oz. : 4.25 urer : RED KAP SP23 YES					
Brown & Bigelow, Inc	First Offer - \$9.89	36 / each	\$356.04		Y			
Product Code: Agency Notes:		Supplier Product (Supplier Notes: W Uniform Manufact Catalog Number: S Stock, yes or no: S Nonstock, yes or r Bid As spec'd	eight/Oz .: 4 1/4 urer : RedKap 3 yes					

432-1109701-06 SHIRTS, Long Sleeve, 100% Cotton (Male)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
GLOBAL TRADING, INC. [Ad]	First Offer - \$12.11	42 / each	\$508.62		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 5.25 Uniform Manufacturer: RED KAP Catalog Number: SC10 Stock, yes or no: YES Nonstock, yes or no: NO						
Brown & Bigelow, Inc	First Offer - \$14.98	42 / each	\$629.16		Y			
Product Code: Agency Notes:		Supplier Product Code: SHCO Supplier Notes: Weight/Oz.: 5 1/4 Uniform Manufacturer: EWC Catalog Number: 3 Stock, yes or no: yes Nonstock, yes or no: yes Bid as Spec'd						

eeve, 100%	Cotton ((Male)				
U	nit Price	Qty/Unit	Total Price	Attch.	Docs	
First Offer -	\$10.97	24 / each	\$263.28		Y	
Product Code:						
gency Notes:			Uniform Manufacturer: RED KAP Catalog Number: SC20 Stock, yes or no: YES Nonstock, yes or no: NO			
First Offer -	\$13.71	24 / each	\$329.04		Y	
		Supplier Product	Code: SHHCO			
	U First Offer -	eeve, 100% Cotton (Unit Price First Offer - \$10.97	First Offer - \$10.9724 / eachSupplier Product Supplier Notes: W Uniform Manufact Catalog Number: Stock, yes or no: Nonstock, yes or no:First Offer - \$13.7124 / each	Unit Price Oty/Unit Total Price First Offer - \$10.97 24 / each \$263.28 Supplier Product Code: Supplier Notes: Weight/Oz.: 5.25 Uniform Manufacturer: RED KAP Catalog Number: SC20 Stock, yes or no: YES Nonstock, yes or no: NO	Unit PriceQty/UnitTotal PriceAttch.First Offer - \$10.9724 / each\$263.28Supplier Product Code: Supplier Notes: Weight/Oz.: 5.25 Uniform Manufacturer: RED KAP Catalog Number: SC20 	

Agency Notes:	Supplier Notes: Weight/Oz.: 5 1/4
	Uniform Manufacturer: EWC
	Catalog Number: 3
	Stock, yes or no: yes
	Nonstock, yes or no: no
	Bid as Spec'd
	Bid as Spec'd

432-1109701-08 TROUSERS, Supervisor, Poly/Rayon (Male)							
Supplier	Unit Price	e Qty/Unit Total Price Attch.					
GLOBAL TRADING, INC. [Ad]	First Offer - \$19.01	30 / each	\$570.30		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 9.0 Uniform Manufacturer: RED KAP Catalog Number: PS36 Stock, yes or no: YES Nonstock, yes or no: NO					
Brown & Bigelow, Inc	First Offer - \$19.93	30 / each	\$597.90		Y		
Product Code: Agency Notes:		Supplier Product Code: 2290 Supplier Notes: Weight/Oz.: 10 oz Uniform Manufacturer: Edwards Catalog Number: 85 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd					

432-1109701-09 TROUSERS, Worker, Poly/Cotton (Male)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
GLOBAL TRADING, INC. [Ad]	First Offer - \$10.57	800 / each	\$8,456.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 7.5 Uniform Manufacturer: RED KAP Catalog Number: PT20 Stock, yes or no: YES Nonstock, yes or no: NO						
Brown & Bigelow, Inc	First Offer - \$13.73	800 / each	\$10,984.00		Y			
Product Code: Agency Notes:		Supplier Product of Supplier Notes: W Uniform Manufact Catalog Number: Stock, yes or no: Nonstock, yes or no: Bid as Spec'd	/eight/Oz. : 7.5 t urer : EWC 3 yes					

432-1109701-10 TROUSERS, Worker, Poly/Cotton (Female)								
Supplier	Unit Price	Unit Price Qty/Unit To			Docs			
GLOBAL TRADING, INC. [Ad]	First Offer - \$12.26	24 / each	\$294.24		Y			
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Weight/Oz.: 7.5 Uniform Manufacturer: RED KAP Catalog Number: PT21 Stock, yes or no: YES Nonstock, yes or no: NO					
Brown & Bigelow, Inc	First Offer - \$15.73	24 / each	\$377.52		Y			
Product Code: Agency Notes:		Supplier Product Supplier Notes: M Uniform Manufact Catalog Number: Stock, yes or no: Nonstock, yes or	/eight/Oz. : 7.5 t urer : EWC 3 yes					

Bid as Spec'd

432-1109701-11 TROUSERS, Work	432-1109701-11 TROUSERS, Worker, 100% Cotton (Male)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GLOBAL TRADING, INC. [Ad]	First Offer - \$14.93	30 / each	\$447.90		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 8.5 Uniform Manufacturer: RED KAP Catalog Number: PC10 Stock, yes or no: YES Nonstock, yes or no: NO			
Brown & Bigelow, Inc	First Offer - \$18.88	30 / each	\$566.40		Y
Product Code: Agency Notes:		Supplier Product Code: PTCO Supplier Notes: Weight/Oz.: 8.5 Uniform Manufacturer: EWC Catalog Number: 3 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

432-1109701-12 SHORTS, Worker,	132-1109701-12 SHORTS, Worker, Poly/Cotton (Male)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
GLOBAL TRADING, INC. [Ad]	First Offer - \$10.10	500 / each	\$5,050.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 7.5 Uniform Manufacturer: RED KAP Catalog Number: PT26 Stock, yes or no: YES Nonstock, yes or no: NO				
Brown & Bigelow, Inc	First Offer - \$11.99	500 / each	\$5,995.00		Y	
Product Code: Agency Notes:		Supplier Product Code: PTBSDC Supplier Notes: Weight/Oz.: 7.5 Uniform Manufacturer: EWC Catalog Number: 3 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd				

432-1109701-13 SHORTS, Worker,	Poly/Cotton (Fema	le)			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GLOBAL TRADING, INC. [Ad]	First Offer - \$11.34	12 / each	\$136.08		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 7.5 Uniform Manufacturer: RED KAP Catalog Number: PT27 Stock, yes or no: YES Nonstock, yes or no: NO			
Brown & Bigelow, Inc	First Offer - \$14.36	12 / each	\$172.32		Y
Product Code: Agency Notes:		Supplier Product Code: PT27 Supplier Notes: Weight/Oz.: 8 Uniform Manufacturer: RedKap Catalog Number: 145 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

432-1109701-14 SHORTS, Worker, 100% Cotton (Male)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

GLOBAL TRADING, INC. [Ad]	First Offer - \$12.34	70 / each	\$863.80		Y
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes: Weight/Oz.: 8.5 Uniform Manufacturer: RED KAP Catalog Number: PC26 Stock, yes or no: YES Nonstock, yes or no: NO				
Brown & Bigelow, Inc	First Offer - \$19.80	70 / each	\$1,386.00		Y
Product Code: Agency Notes:		Supplier Product Code: PC26 Supplier Notes: Weight/Oz.: 8 Uniform Manufacturer: RedKap Catalog Number: 133 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

432-1109701-15 CARGO PANTS, Po	oly/Cotton (Male)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GLOBAL TRADING, INC. [Ad]	First Offer - \$15.74	1000 / each	\$15,740.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 8.0 Uniform Manufacturer: RED KAP Catalog Number: PT88 Stock, yes or no: YES Nonstock, yes or no: NO CARGO PANTS ARE MANUFACTURED IN EVEN SIZES ONLY FROM 30-50 WAIST.			
Brown & Bigelow, Inc	First Offer - \$18.98	1000 / each	\$18,980.00		Y
Product Code: Agency Notes:		Supplier Product Code: PT88 Supplier Notes: Weight/Oz.: 8 Uniform Manufacturer: RedKap Catalog Number: 133 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

432-1109701-16 CARGO PANTS, 100% Cotton (Male)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GLOBAL TRADING, INC. [Ad]	First Offer - \$18.46	30 / each	\$553.80		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 8.5 Uniform Manufacturer: RED KAP Catalog Number: PC76 Stock, yes or no: YES Nonstock, yes or no: NO MANUFACTURED ONLY IN EVEN SIZES FROM 30-50 WAIST			
Brown & Bigelow, Inc	First Offer - \$20.95	30 / each	\$628.50		Y
Product Code: Agency Notes:		Supplier Product Code: PC76 Supplier Notes: Weight/Oz.: 8.5 Uniform Manufacturer: RedKap Catalog Number: 138 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

432-1109701-17 CARGO SHORTS, Poly/Cotton (Male)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GLOBAL TRADING, INC. [Ad]	First Offer - \$14.32	500 / each	\$7,160.00		Y
Product Code:		Supplier Product	Code:		
Agency Notes:		Supplier Notes: Weight/Oz.: 7.5			
			•		

		Uniform Manufacturer: RED KAP Catalog Number: PT66 Stock, yes or no: YES Nonstock, yes or no: NO MANUFACTURED ONLY IN EVEN SIZES FROM 30-50 WAIST			
Brown & Bigelow, Inc	First Offer - \$15.95	500 / each	\$7,975.00		Y
Product Code: Agency Notes:		Supplier Product Code: PT66 Supplier Notes: Weight/Oz.: 7.5 Uniform Manufacturer: RedKap Catalog Number: 144 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

432-1109701-18 CARGO SHORT, 100% Cotton (Male)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
GLOBAL TRADING, INC. [Ad]	First Offer - \$15.86	70 / each	\$1,110.20		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Weight/Oz.: 8.0 Uniform Manufacturer: RED KAP Catalog Number: PC86 Stock, yes or no: YES Nonstock, yes or no: NO MANUFACTURED ONLY IN EVEN SIZES FROM 30-50 WAIST			
Brown & Bigelow, Inc	First Offer - \$18.95	70 / each	\$1,326.50		Y
Product Code: Agency Notes:		Supplier Product Code: PC86 Supplier Notes: Weight/Oz.: 8.5 Uniform Manufacturer: RedKap Catalog Number: 144 Stock, yes or no: yes Nonstock, yes or no: no Bid as Spec'd			

Supplier Tot	tals	
GLOBAL TR	RADING, INC. [Ad]	\$62,817.58 (18/18 items)
Bid Contact	BARRY LEVONTIN <u>barry@gtim.com</u> Ph 561-558-5874	Address 4837 N.E. 12th AVENUE FORT LAUDERDALE, FL 33334
Qualification	s SB	
Agency Not	es:	Supplier Notes:
Brown & B	ligelow, Inc	\$81,491.18 (18/18 items)
Bid Contact	Michael Ryba <u>mryba@brownandbigelow.com</u> Ph 954-625-2900 Fax 954-316-9995	Address 4101 Ravenswood Road #105 Ft. Lauderdale, FL 33312
Bid Notes	Company Est 1896	
Agency Not	es:	Supplier Notes: Company Est 1896

* *